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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

4 All the questions including objective-type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

6 In case of any doubt or confusion in the question paper, the English Version will prevail.

7 Write your Question Paper code No. 68/0S/2, Set—| A | on the Answer-Book.

8 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer

in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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Answers of all questions are to be given in the Answer-Book given to you.
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15 minutes time has been allotted to read this Question Paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.
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BUSINESS STUDIES

(TR )
(215)
Time : 3 Hours] [Maximum Marks : 100
g : 3 "] [quiies : 100
Note : (i) This question paper consists of 51 questions in all.

(i)
(iii)
(iv)

v)

(vi)

All questions are compulsory.

Marks are given against each question.

Section 'A' consists of -

Q. No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark

each. Select and write the most appropriate option out of the four options

given in each of these questions.

Section 'B' consists of -

Q. No. 21 to 35 - Objective type questions. Q. No. 21 to 35 carry 2 marks

each (with 2 sub-parts of 1 mark each). Attempt these questions as per the

instructions given for each question.

Section 'C' consists of -

(a) Q. No. 36 to 41 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 42 to 47 - Short Answer type questions carrying 3 marks each
to be answered in the range of 50 to 80 words.

(¢) Q. No. 48 to 51 - Long Answer type questions carrying 5 marks each
to be answered in the range of 80 to 120 words.

e (i) 39 999 A Ppa 51 U g
(i) &+ wew o ¥
(iii) 9&® 9T & e ofw e o ¥
(iv) |ug ‘e ¥
7 8 1920 - % Sgfaedd 99T 1 8% & 51 39 99 gl 9 fig
T R fawedi § ¥ 999 Sugw fawed @1 o @ ud fad)
(v) @ @ A
T " 219 35 - IS UHR b 2 3l &b U & (1 sf % & IUHE) |
U @B TRe U § g fdarger s @i
(vi) @ @ ¥
(@) . € 369 41 —2 3faf & Afg-agauds 9T & e sax 30 9
50 si=i ® T
(b) U. H 42 ¥ 47 — IYgAUHD YR & 3 3Bl & U & WEHl I
50 & 80 gr=af # <ifg
(c) 9. ® 48 ¥ 51 — I-3IAUED TBR & 5 3ibl b W & Fiiepr SO
80 & 120 gr<af H ST
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SECTION - A
g — A

Q. No. 1 to 20 are MCQs of one mark each.
799 HE 1§ 20 TF TAE TF O F qgiaehedid 99 €

1  Business = . 1
(A) Industry + Commerce (B) Industry + Trade
(C) Trade + Commerce (D) Trade + Aids to Trade
AT = |
(A) T + iy (B) &M + AMR
(C) =MUR + airey (D) MR + AUR ¥ WE™dH
2 Sending quotations of supplying raw materials by one businessman to 1

another, is called :

(A) B2B (B) B2C
(C) c2¢C (D) None of the above
% FIEET g T ATHTA! Bl Hd W Dbl SMY(T b BICY Wold Dbl Hel Sl ¢
(A) B2B (B) B2C
(C) c2¢C (D) Suled § ¥ dig e
3  Earthquake comes under which type of risk? 1
(A) Economic cause risk (B) Human cause risk
(C) Natural cause risk (D) Physical cause risk
I™ fohe JBR % SR & ST=iid ol & 7
(A) enfies wRuT SiRaw (B) 9Md™ &ROT SiRgH
(C) Wil wRUT SRaH (D) <M BRU SReH
4  Industries engaged in the construction of building, roads and bridges etc. 1
are known as :
(A) Construction Industries (B) Manufacturing Industries
(C) Extractive Industries (D) Genetic Industries
W, ¥8%h qo1 ¥g o & FEfor § " e wead &
(A) fafemfor sEm (B) fmiol SERT
(C) Frepdur Fam (D) wHS IEM
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5  Which of the following is not the features of the sole trade? 1

(A) Individual ownership (B) Limited liability
(C) Secrecy (D) Undivided risk
frafaiad & & B8 Thd AUR @ fG9var T g 7
(A) =T @i (B) @fya =i
(C) o=t (D) sifqriera siiRaw
6  Name the business organisation which has feature of 'Separate Legal Entity'. 1
(A) Sole Proprietorship (B) Partnership

(C) Partnership Firm of Lawyers (D) Company
SH AEHIS W & a1 Ia13¢ feH g el siaa’ @l fagioar 1

(A) T T (B) wmErETd
(C) Tt & FrEEry By (D) =
7  How many maximum partners can be there in an LLP (Limited Liability 1
partnership)?
(A) Two (B) Twenty
(C) Ten (D) Unlimited number
Ud T O (S <aar arier)) ¥ sifteeaw fhdy amiieR & d@d € 7
(A) = (B) 9@
(C) == (D) orifa g
8  Minimum number of members to form a public company is : 1
QS+ B S 6 7 e i & gaad gl §
(A) 2 B) 7
C) 12 (D) 21
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9  Which of the following is not a type of advance provided by Commercial 1
Bank?

(A) Cash credit

(B) Discounting of Bills

(C) Overdraft

(D) Collecting and Supplying Business Information

ffaRad & 9 -1 aftifaes 9@ gra feor @ oM (Tea) =@ § 7
(A) %3 Hhise

(B) gfeat &1 g

(C) siletgTee

(D) =ik GAATE Tehsl HIAT F I &0

10 Principle of Indemnity is not applicable on : 1
(A) Marine Insurance (B) Fire Insurance
(C) Life Insurance (D) None of the above
afagfa &1 fasia frafafaa o @ =@ 8
(A) Fga1 (B) afT s
(C) e (D) U # § HE TE
11 We should keep our savings with banks because : 1
(A) It is safe (B) Can be withdrawn any time
(C) Earns interest (D) All of the above
& IOl SO el § @Al Aoy wifh ¢
(A) ¥ gfea & (B) &+ o feprell &1 5wl §
(C) =l el ¥ (D) Sule @
12 The wholesaler buys goods in a quantity. 1
(A) Bulk (B) Less
(C) Medium (D) None of the above
Aqiep Tashar =T ¥ A @lEdr |
(A) o (B) =4
(C) 5em (D) Swie ® ¥ @iy Tel
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13 Which of the following is not a feature of advertising? 1

(A) Impersonal (B) Non-paid
(C) Identified sponsor (D) Mass communication
freafaiad & @ siF-ar fasmaa & fastoar 78 87
(A) st (B) -y
(C) &N T YHSH (D) SHEER
14 deals in various types of goods. 1
(A) Retailer (B) Wholesaler
(C) Broker (D) Agent
=1 Yo &1 axgall Bl SR HIT |
(A) FeEaT fashar (B) s fashar
(C) = (D) wfatta
15 The term DAGMAR is associated with : 1
(A) Product (B) Price
(C) Advertising (D) None of these
s’ DAGMAR w&fad ¢
(A) T@E 9§ (B) @ma @
(C) fosmo & (D) 7 ®ig e
16 The rights of consumers as per the Consumer Protection Act does not 1
include right to be :
(A) Informed (B) Heard
(C) Safety (D) Presentation

JYHIRAT G ATTTET b STTER IS & ARl 9 Frefafad st
omfe T & -

(A) Hfaa (B) g
(C) gxam (D) wgf
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17 The maximum age limit of a person who can be a member of National 1
Commission is :

(A) 65 years (B) 70 years
(C) 35 years (D) 60 years
TR STANT BT 9 999 & foq sifrepaw g € @r 7
(A) 65 a4 (B) 70 ad
(C) 35 a4 (D) 60 ad
18 Where is Consumer Guidance Society of India located? 1
(A) Mumbai (B) Delhi
(C) Pune (D) Kolkatta
AT SYHIERT AFTEeH Argel ®el Rud &7
(A) g (B) faeei
(©) i (D) e
19  Which of the following is not an example of self employment? 1

(A) Doctor working at a city hospital

(B) The doctor doing private practice

(C) Shop owner

(D) Cafe owner

frafaiad & @ @S-8 @WATMR & I e & 7
(A) X % TH STWATH § HF BT AT Sieel
(B) freit Afeed &3 amar sfaex

(C) 3@ &N wiierh
(D) &% @1 AlfeTd
20 The success of entrepreneur depends on : 1
(A) Hard Work (B) Good Idea
(C) Both of the above (D) None of the above
SEH D GHAAT fhd UX FHT Har B
(A) ®S Hgd W (B) o fam W
(C) Sule &l T (D) ¥ ®ig
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SECTION - B
g — q

Q. No. 21 to 35 are 02 marks objective type questions.
999 G 21 A 35 o 79 02 % F g TER & 99 ¥

21 Point out the example of an activity which at one time is economic and 2
other time non-economic.

Tl Tfafafy o1 IS IAEY S U q9d | o Bl & oY qEY wWg o
AR |

22 Fill in the blanks : 1x2=2
(a) Minimum amount of capital required to start a private limited company
is Rs.
(b) The liability of the members of Cooperative Society is
o &\ W
(a) U UrEae [RES BT & B o oY STTagdes =gAad Ysil df T
T B
(b) e aMfd s ge=f dr afid . F)
23 The business assets of an organisation are worth Rs. 90,000 but the debts 2

remaining unpaid is Rs. 1,20,000. What course of action can the creditors
take in sole proprietorship form of organisation?

fopdll TeT @1 aaEie gt @ dEd 90,000 B, ¥ @ieT 1,20,000 %, @1 %00
IHEAT T | Thd W d §T6T ¥ WHeK T BILdls hY dohd & ¢

24  Write True or False. 1x2=2

(a) The process of communication gets completed only when the receiver
understands the message.

(b) The hurdle that comes in the way of communication is known as NOISE.
g a1 a faRgul

(a) dEr uiear aft g0 & § 99 YTl W91 B g9 wal §

(b) AR % AR & M aTell STel @ TR &% AW | ST AT ¥
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25 State the full form of the following : 1x2=2
(a) KYC
(b) ATM
frrefafea & gof &7 TaRu -
(a) @& arg °@ (KYC)
(b) T T (ATM)

26 Write True or False. 1x2=2
(a) Insurance is a social service.

(b) All contracts of insurance are contracts of indemnity.
g a1 I faRaul

(a) o TH GRS Far B

(b) | I ey @fagd oTY |

27 Fill in the blanks. 1x2=2
(a) In order to complete the process of communication, there should at least
be persons.
(b) communication includes sounds, words, language and speech.
EeaRSIEECERU
(a) €A B URBAT B QU B & T & o B FfRT 9 @Il
(b) TOR N eafal, 9T, HIoT S 9wl ot E|
28 Write True or False. 1x2=2

(a) The rate at which money is lent or borrowed is known as interest rate.

(b) When a banker accepts the securities for safe custody, the relationship
between a banker and customer is that of principal and agent.

I a1 I\ faRau)

(a) o1& o oX Yar SUr T Srar & ar Sur foan Sdan & 9% e &% 6 w9 H S
ST B

(b) & uHh SwT gl @ gRiwa siftRen & fw @er & &, @ §eY ok
Ued & Sg gy Hfaaed i Toee @1 g 31
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29 Mr. Ravi Kumar has limited income and wants to save money for future 2
needs. Which type of account should be opened by him in Punjab National
Bank?

A T FAR BT o T § X T8 Ao 1 sTagasdharen & foQ 98 S amedr
T I% U A9 96  fRE YBR @ @A @iedr ey ?

30 A company has undertaken a fire insurance policy for Rs. 7 lakh. After three 2
months, due to fire, it incurred a loss of Rs. 3 lakh. How much amount will
the company get as compensation? Also state the principle of insurance
involved here.

Uth BT 5 7 O B9Y HI U A0 197 Iiferdl ol & 1 A T8N 918 3 & &
HRUT B Dl 3 W@ YUY BT THAT G| BT bl JATeSl &b & H fopear i
frer il ? gry &1, 399 ot ST @ fagia o AR

31 Fill in the banks : 1x2=2

(a) represents a chain of business or intermediaries through
which the final buyer purchases a goods or service.

(b) Wholesaler is a link between manufacture and
o &\ W

(a) IaarE a1 fadifaal o Th e & Iuiar & fTae Jem o
aifem Sl s a%g a1 Far @laar Bl

(b) i fepan, frafan &R % S U DIl 2|

32 Write True or False. 1x2=2

(a) Advertising helps to promote the sales of existing as well as new
products.

(b) In advertising, the manufacturer communicates with prospective
customers through different media.

g a1 e farag |
(a) fagmoe wiepEr o T SamEl o fawt @ SeEr 39 ¥ gewEdr & § |

(b) fasmum # fmtar fafv= Aifeen & wreom @ grwnfaq weel & @Y g9
BT &
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33 Kavita purchased a medicine but medicine does not have date of 2
manufacturing and date of expiry printed on its package. Identify which right
of the consumer is being violated.

HIIAT ¥ Teh TaT GG Wik ga1 & Yobe qX Fmfor & arig ok gaifq & ariig
&l BUl 7| U SUHIRT & &9 & (& SAUBR B I8N HId |

34 Fill in the blanks : 1x2=2
(a) The district level court deals with consumer dispute cases involving claims
upto
(b) India has been observing as National Consumer Day.
o e w1
(a) Toer wlE = dh b @ ¥ TEd IuHR foere gl |
faear %1
(b) A B TSI IUHRT o & &9 § A4 1
35 Write True or False. 1x2=2

(a) Large amount of working capital is not required for small business.

(b) The place of 'Let the buyer beware' has been taken by 'Let the seller
beware'.

g a1 36 farag |
(a) BR HUIR & a0 ST 7= § BT ol B & T8l sl
(b) AT HEY™ @I Bl e ‘Tashar @EEE @A o @@ &
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SECTION - C
geE — 9

Q. No. 36 to 51 are given below. Internal choices have been given wherever necessary.

9eq G 36 A 51 AR Ru ¥ | @@ N emaasE gon, s e Ru ¥

36 (i) Satish lost his job during Covid-19 panademic. Now he wants to start a 2
business of his own in his hometown. Satish has limited finance available
with him and he does not want many legal formalities to start a business.
Suggest Satish which form of business organisation he should go for?
HIfas—19 A % AT FALT DI ABL Tl 5| 3T I& 3797 g T H 39T
Ge & FIEE & BT Al & | GAleT & 96 Qi 9 Sueed § i a8
I & H & (AU ggad U BT SAEIehdrel § T8 SAsAl daredrl
AT B GIa < fop I oh9 A % Ia@d e § S GoA1 dlfed |

OR / 3@t
(i1)) Rohan and Sachin bought a Godown, on which they invested the money
equally. They rented out the godown and divided the received rent equally
between themselves. Are Rohan and Sachin partners? Explain.

e o g 3 Tah MeM @iier, 9 W S=i sus-aaey 39 @A)
I Te™ &l frd 9X T fean ofit ura |ret Wit &y omud H SE-a3Ey
gic foran| w Usq o |iu 9r3ieR €7 @ &L |

37 (i) State any two functions of a Retailer. 2
Th FIH AR & ol & Bl B o@D |
OR / 31
(i1)) What is direct channel? Give any two examples of it.

e o9 AT & 7 3HP hls <1 IATELU SIS |

38 What is meant by 'Right to Choose' to a consumer? 2
SUHERT % g g b eifye | w ard § 7

39 (i) Name the consumer courts where the complaints will be filed by the 2
consumers.

S UG eIl b AW ST SR U SUHRSl g R &l @
ST |
OR / 3ty
(i1)) State any two points of importance of consumer protection from the
point of view of business.

AU % FREHY F STHIKN & & Hed & Hig A (&g A3
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40

41

42

43

44

45
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State the concept of consumerism.

IUHRITATE ! STILTIIN hl el ifTd |

State any two directions which can be issued by the consumer court to
the opposite party if it is satisfied about the genuineness of the complaint.

el A1 fcol o1 Seor HINTT S SuHTeRT =g g fauel uer @l Sy fohd
S g § afe I fiera @ arafadear & e A g e

(i)

(ii)

(i)

(ii)

Mamta had some such books which were rare in the market. One of her
friends needed those books. Mamta sold out all those books to her friend
for Rs. 4,000 and earned a profit of Rs. 1,000. Can this activity of her be
called a business?
AT % U HB UHT fpard off S AR # gaw off | It U Tral Bl S feparat
o e 1| HEA A d W fehard sraet "l @t 4,000 TU¥ H 99 & &iY
1,000 9 T A HHEAT| HT I8k 36 BH B AT Hl S Feball & 7
OR / 3@t
Ajay and Vijay are two friends. Both of them are doing different businesses.
Ajay's business is facing change in fashion and change in prices and he
is also very upset because of tough competition. On the other hand, there
is a great hurdle in Vijay's business because of the dishonesty of employees,
dishonesty of customers and strikes and lockouts. Point out the type of
business risk the two friends are undergoing or suffering from.
o5 SR fasra &1 f €1 ST SIeT—oTaT edd B (@& & | 3TeTd & Fad™
HeF o HHAl § IS BN HHAT B T & 3R a8 bel Flaeadf & Heor
Tgd W §| AU S HHAINE! BT IZAM!, ATEh! Dl ST 31T gaATd 31T
ATl & BT foorg & aEr H g1 arem o7 W@ § | a3 6 I e fop|
YR % JIEMIS g & o & ¢ a1 N & 7

Explain any three advantages of E-commerce.
§—aeg & fohel dM @ 1 qUA BT
OR / 3@t
What is meant by Industry? State any two types of industries.

TN T T ST 7 SE & bls & ThRI Bl el il |

Explain the elements of communication process.

GO YfhaT & ol dT Guid i |

State any three points on importance of advertising.

fosmaT & wew & fRel A fagelt @1 s FifT

3
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46 (i) Explain any three problems faced by consumers. 3
SUHIRTST % THE o Al fohel AN GHETS B gud Hiferg |
OR / 3@t

(i1)) Explain any three functions of consumer organizations and non-government
organizations (NGO's) for protecting and promoting the interest of
consumers.
SuwERTel % feal @ @ o Wadw % fau SuHieRn d@edl ot IR-—wwarl
oAl (TH.S.8M.) & Tl O Bl &1 e Hi |

47 Explain the importance of choosing a career. 3
HET T & T Bl AU It |
48 Explain any three advantages and two limitations of joint stock companies. 5

YYH Wi B & fohel A A9l T & HHTS B JU HifeTg |

49 (i) HDFC Bank is a private sector bank offering various services to its 5
customers. It offers various types of bank account options to its
customers. Geeta being a business person has chosen the type of account
in which the deposits are most liquid and there are no limit to the
number of transactions or amount of transactions in a day. On the other
hand, her mother has opened a type of account where she can
conveniently deposit the money she saves. She has got cheque facility
and lot of flexibility for deposits and withdrawal, whereas Geeta's brother
Kartik opened an account where he will deposit Rs. 3,000 per month
for next two years.

In the context of the above case :
(a) Identify the various types of bank accounts used by Geeta and
her family.
(b) Explain briefly two other types of accounts.
g E UF 91 §% Th el & B 96 & S U Uehl bl fafee gard we
HIAT & | TE ST UTBH! B M T % §b @Il bl [ahed Ya HIT ¢ |
AT Uoh AIERT ¢ 3T I8 UH WA 61 YK AT & [S7aH ST AT a9
1faes TR Bl & ST Uh R & WMed &l den a1 A1 &l dig dr Tl
Tl & | A SR, IHa A1 3 Uo YUY U & Gidl WAl 81 98 =1 gad
% ¥ STEMT & T B Hhdll & | 39 A% Dl Fiaer i 5T iR el &
Ty Sga @Ce e §, Stafs A & A1 Sifae 5 UHT W1 @il S8l a8
31 aut % fw 3,000 9 Ufq A6 ST HOMI
SUERT A % Hed #
(a) T R I8 INER & ITART {6 ST el fafH=T 9k & S @t
B TEA Be |
(b) T I YBR & WAl & GAY F THIEY |
OR / 3@t
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50

51

(ii)

Anil goes to 'State Bank of India' to open his Savings Account there.
On visiting the bank he learns that there is an account available which
is better than the Savings Account. The speciality of this account is
that as and when the deposited amount in the account exceeds a certain
amount, the amount in excess gets transferred into Fixed Deposit. The
interest earned on the Fixed Deposit is more than that on the Savings
Account. This account serves the purpose of both the Savings Account
and Fixed Deposit. Anil gets this account opened. Identify this account
and explain it.

AT STOHT S9d @Il Gaa™ & U ‘®e I o1 3fear o &1 96 & 9
X Y UdT Iaal ¢ 6 It UET Wiar U § o 99d O ¥ 98d¥ §1 39
G B Girad 98 & 6 99 off U § o iy ue ffyaa iy 9 et
B T &, 98 T qraty o W WEidid o Sy § | et s Y e
AT A g9 @I H 3T Bial & | I8 WAl §9d @i SR qraty §9 =
B B T BT §| A I8 WA GAa &1 36 G Bl qed 3K
GHEEY |

What is meant by advertising? Explain any four features of it.

forsmoe 9 1 aad ® 7 9! fohel AR fasiuarett @ aui #ifvg

(i)

(ii)

What is Entrepreneurship? Explain any four functions of an entrepreneur.

T T T 31 & 7 Teh ST o feheel AR Bl I Guie BT |
OR / sty

What are the factors you would like to consider if you start a small

enterprise to produce bathing soap?

gfT 39 &M &1 WY S BT BT &9 & HIA &, Al 9 fhT BRB I

foram & AR ?
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5



This Question Paper consists of 51 questions and 16 printed pages.
T 99— § 51 997 70 16 Y y= ¥

Roll No. Code No. 68/0S/2
A FE |
set /% - |B

BUSINESS STUDIES
(caTaentas 3teaaq)
(215)

Day and Date of Examination

(ren # = 7 fa=i)

Signature of Invigilators 1.

(Friterrt & ewEn)

2.

General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

4 All the questions including objective-type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

6 In case of any doubt or confusion in the question paper, the English Version will prevail.

7 Write your Question Paper code No. 68/0S/2, Set— || on the Answer-Book.

8 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer

in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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A SR

1

2

Tl eI b WEW U WX UM g asd o |

FUAT YT-TF B W@ o fF G-I & HA YOf qUT YA DI Ia4l o G & Al
YT U5 b G99 SHUX BU ¥ @ 9 B WAd N B o 6 U e w9 F T

TS TgHl H el AR fawedt (A), (B), (C) a1 (D) ¥ ¥ hig TH IOX gAAT & qd
A T IT-gRaer # T Wl Iax fod |

Tegfrss yedt & wra—ary @t et % Iax fraifa orafy & fax & 3 ¥ aggfrs
g9l & fou ot @ wwg WE femm Smm

Sa-giaer ¥ veaH-fug W otgar fide wel & afafea &8 Ff srgwaie faem
X glenedt B ST sEuEr S|

TeTaS H fopdl AT YR & ©oE ofgan giaer @ Rufq § SRS srgame & A= &)

JTT IAX-YRA®HT W TSI B B 7. 68/0S/2, ¥e - [B| @

(@) WU daw SIS/ § ¥ Y oft, Al oy A A A & T fHl U dmw
¥ I T GHd D

Hipull, WYL, sm@fEr, AU, HWR, Wwpa o fueh

FUT I-YRawr ¥ faw U afem @ fow 6 omw few W § s faw w@ ¥

(@) afy ey & ud ooy & orfafted fpdY o 9w ® SR femaa &, o wei &
e ¥ BM 9t Jfedi | TEfadl @ R wad sder gr|

-

General Instruction / ™= 7891 :
1.

2.

Answers of all questions are to be given in the Answer-Book given to you.
Yl G % A SATYRI < T ITX GRaenT F B fored |

15 minutes time has been allotted to read this Question Paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 Y9951 I UG o 10T 15 feie o1 a9 f&am 7 8 | we—u=t @1 faaeor aiue & 02.15 591 fopar
ST 02.15 57 § 02.30 S5 O BT dhad F9T-95 Dl T 31X 37 AT % S o SA-gRa!
X BIE IAT T fA@ |

-

J
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BUSINESS STUDIES

(TR )
(215)
Time : 3 Hours] [Maximum Marks : 100
g : 3 "] [quiies : 100
Note : (i) This question paper consists of 51 questions in all.

(i)
(iii)
(iv)

v)

(vi)

All questions are compulsory.

Marks are given against each question.

Section 'A' consists of -

Q. No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark

each. Select and write the most appropriate option out of the four options

given in each of these questions.

Section 'B' consists of -

Q. No. 21 to 35 - Objective type questions. Q. No. 21 to 35 carry 2 marks

each (with 2 sub-parts of 1 mark each). Attempt these questions as per the

instructions given for each question.

Section 'C' consists of -

(a) Q. No. 36 to 41 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 42 to 47 - Short Answer type questions carrying 3 marks each
to be answered in the range of 50 to 80 words.

(¢) Q. No. 48 to 51 - Long Answer type questions carrying 5 marks each
to be answered in the range of 80 to 120 words.

e (i) 39 999 A Ppa 51 U g
(i) &+ wew o ¥
(iii) 9&® 9T & e ofw e o ¥
(iv) |ug ‘e ¥
7 8 1920 - % Sgfaedd 99T 1 8% & 51 39 99 gl 9 fig
T R fawedi § ¥ 999 Sugw fawed @1 o @ ud fad)
(v) @ @ A
T " 219 35 - IS UHR b 2 3l &b U & (1 sf % & IUHE) |
U @B TRe U § g fdarger s @i
(vi) @ @ ¥
(@) . € 369 41 —2 3faf & Afg-agauds 9T & e sax 30 9
50 si=i ® T
(b) U. H 42 ¥ 47 — IYgAUHD YR & 3 3Bl & U & WEHl I
50 & 80 gr=af # <ifg
(c) 9. ® 48 ¥ 51 — I-3IAUED TBR & 5 3ibl b W & Fiiepr SO
80 & 120 gr<af H ST
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SECTION - A
g — A

Q. No. 1 to 20 are MCQs of one mark each.
799 HE 1§ 20 TF TAE TF O F qgiaehedid 99 €

1  Who can make a complaint under Consumer Protection Act? 1
(A) Consumer (B) Third Person
(C) Alien (D) None of the above
SUHIRT XU AT b Ted DI bEd B qohdl & 7
(A) ¥R (B) req =t
(C) ufwaw (D) Ul § @IS e
2 The wholesaler buys goods in a quantity. 1
(A) Bulk (B) Less
(C) Medium (D) None of the above
o fashar e § W @l § |
(A) 9% (B) ==
(C) wem (D) SUUa # | BIE el
3  Business = . 1
(A) Industry + Commerce (B) Industry + Trade
(C) Trade + Commerce (D) Trade + Aids to Trade
AT = |
(A) 3E + arfosg (B) SE + &mMR
(C) =R + =iy (D) =MR + =AUR ¥ ¥EEh

[y

4  Name the business organisation which has feature of 'Separate Legal Entity'.
(A) Sole Proprietorship (B) Partnership
(C) Partnership Firm of Lawyers (D) Company
SH OIS €T & A Ia13¢ feH goed el oiad’ @l fagioar 1
(A) THA @i (B) wEERl
(C) gl &I FEiEr ®H (D) =Y
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5  Which of the following Consumer Courts deals with cases where the amount 1
involved exceeds Rs. 20 lakhs but does not exceed one crore?

(A) District Forum (B) State Commission
(C) National Commission (D) Supreme Court

fore SuHieT oreTad & 20 @@ 99 § FUT 3R UHh HAUS d% & AM@l bl giars
& ATBR & 7

(A) e A (B) T M
(C) TSR e (D) STaad Iy
6  The term DAGMAR is associated with : 1
(A) Product (B) Price
(C) Advertising (D) None of these
s’ DAGMAR @=fad ¢
(A) T@E § (B) @mwa ¥
(C) fosmost ¥ (D) = g T
7  Which of the following has the advantage of 'Continuity'? 1
(A) Sole Proprietorship (B) Partnership
(C) Company (D) All business organisations
frfafad o 9 fead ‘Faxar & @ & ?
(A) Upd @i (B) dmER
(C) & (D) |9 =9 e
8  The maximum age limit of a person who can be a member of National 1
Commission is :
(A) 65 years (B) 70 years
(C) 35 years (D) 60 years
T RN &1 9e: a1 &% g stfaepaw Mg | &1 &7
(A) 65 a4 (B) 70 ad
(C) 35 a4 (D) 60 ad

68/0S/2—215_B | S (AR w - [ Contd...



9  Principle of Indemnity is not applicable on : 1

(A) Marine Insurance (B) Fire Insurance
(C) Life Insurance (D) None of the above
Aiaqfa & fHaia Frefaiad 9 @] el sl
(A) FgaT & (B) af &
(C) e (D) Sulad ® ¥ Bis &l
10 Which of the following is not an example of self employment? 1

(A) Doctor working at a city hospital

(B) The doctor doing private practice

(C) Shop owner

(D) Cafe owner

frafafed § & SF-—a1 WU 1 I T8l & 7
(A) 9T & UHh WA H B BT ATl Siaet

(B) fooit dfed &e e ety

(C) 3 @1 s
(D) %% @ HifeTh
11  The maximum number of partners in a non-banking partnership firm are : 1
T TR AEET] WY W AEERl @l Stiehad Sl §
(A) 10 (B) 50
(€) 100 (D) 200
12 Which of the following is not a feature of advertising? 1
(A) Impersonal (B) Non-paid
(C) Identified sponsor (D) Mass communication
el & & wF-ar fesmoT @ fqeoar & &7
(A)  raferis (B) TR-ym@w
(C) U&d™ ™ ANTh (D) THEER

68/0S/2—215_B | 6 (AR w - [ Contd...



13  We should keep our savings with banks because :

(A) It is safe (B) Can be withdrawn any time
(C) Earns interest (D) All of the above

T AUl god df H W@l Ay @it

(A) ¥g gifua & (B) @t ot ferdl @0 ST "epdl @
(C) =l HARN ¥ (D) S a4

14 Industries engaged in the construction of building, roads and bridges etc.
are known as :

(A) Construction Industries (B) Manufacturing Industries
(C) Extractive Industries (D) Genetic Industries
W, ¥8%h qo1 ¥g o & FEir § @@ e wead &
(A) fafmior samr (B) ol S
(C) frepdur Fam (D) wHi® SE

15 Technical and expensive products should use channel.
(A) Short (B) Long
(C) Indirect (D) None of the above
debiiel T WEN Il o e YA AT ST =@mfE )
(A) g (B)
(C) emad (D) wuled ¥ &g Tl

16 Sending quotations of supplying raw materials by one businessman to

another, is called :

(A) B2B B) B2C

(C) c2¢C (D) None of the above

T FIHE B T FAER B H WA bl AYMA D BICIE WS Bl HeT AW &
(A) B2B B) B2C

(C) Cc2C (D) IWE # € @5 Tl

68/0S/2—215_B | 7 (AR w - [ Contd...



17 How many maximum partners can be there in an LLP (Limited Liability 1

partnership)?
(A) Two (B) Twenty
(C) Ten (D) Unlimited number
Ud T O (S <aar arier)) ¥ sifteaw fhdy amiieR & d@d € 7
(A) = (B) <
©C) =™ (D) orifa "
18 The success of entrepreneur depends on : 1
(A) Hard Work (B) Good Idea
(C) Both of the above (D) None of the above
SEH D FHAT [hd UX FHT Har B 7
(A) &I HEdad W (B) o foar X
(C) Ioed IMf W (D) T @i T
19 Earthquake comes under which type of risk? 1
(A) Economic cause risk (B) Human cause risk
(C) Natural cause risk (D) Physical cause risk
Yoo fohd U % SIRaH &% Sf=id ol @ 7
(A) onfies wRuT SiRaw (B) 9Md™ RO SiRgH
(C) Wihm FToT S (D) TR HR S
20  Which of the following is not a type of advance provided by Commercial 1
Bank?

(A) Cash credit

(B) Discounting of Bills

(C) Overdraft

(D) Collecting and Supplying Business Information

frfafag & @ aF-—ar aifvias ¥& g fear @ oM (Tear) =@ 7
(A) &Y hfee

(B) gfsal r s

(C) oTag™e

(D) MI® FaAE Thd BT T 3% ol

68/0S/2—215_B | 8 (AR w - [ Contd...



SECTION - B
g — q

Q. No. 21 to 35 are 02 marks objective type questions.
999 G 21 A 35 o 79 02 % F g TER & 99 ¥

21

22

23

24

Insurance is a contract of indemnity between and . 1x2=2
qen % Srd S @fayfd & Uh ST §1
Write True or False. 1x2=2

(a) Advertising helps to promote the sales of existing as well as new
products.

(b) In advertising, the manufacturer communicates with prospective
customers through different media.

T 91 o faiau|
(a) fosmo His@Er iR T SamEl @ foshl & gerar 3 W ¥eEdr &l 5|

(b) fasmum & frmtar fafi= Hifear & wregw @ gewfaa et & @y gaQ
BT B

A company has undertaken a fire insurance policy for Rs. 7 lakh. After three
months, due to fire, it incurred a loss of Rs. 3 lakh. How much amount will
the company get as compensation? Also state the principle of insurance
involved here.

T G 7 @@ B9Y Bl U 0T S GiaE! | § | O 7eH 918 ST @ 6
BT HAN Dl 3 TG TIY BT THAT G| BT Bl FINESl &b & § fopa=r T
fiertt 7 g €1, 3o et & o Rasia W STaE|

Write True or False. 1x2=2

(a) Large amount of working capital is not required for small business.

(b) The place of 'Let the buyer beware' has been taken by 'Let the seller
beware'.

qg 1 o6 fefe |
(a) BR HRER & a0 IS 7=1 § wRsfa 4ol & & T8l sl
(b) ShdT HEAY™ @I Bl e ‘Toasham qEg™ @A o @ &

68/0S/2—215_B | 9 LR



25 Kavita purchased a medicine but medicine does not have date of 2
manufacturing and date of expiry printed on its package. Identify which right
of the consumer is being violated.

HIIAT ¥ Teh TaT GG Wik ga1 & Yobe q¥ Fmfor & arig ik gaifq & ariig
& B 7| Ueh IUMIGAT & &9 Bl (© SAUBR Dl Ted™ s |

26 Fill in the blanks : 1x2=2

(a) An appeal against the order of State Commission can be filed before the

(b) To be a member of any redress forum, the person should have minimum
years of experience.

o e w1
(a) T~ A & AR & [I65 o1 % THE TEI B AT Gl & |

(b) TREl HT fETRUT BT &1 9 T & [T SAfKT & 96 B § HH
JY P SIHT BT AT |

27 Fill in the banks : 1x2=2

(a) represents a chain of business or intermediaries through
which the final buyer purchases a goods or service.

(b) Wholesaler is a link between manufacture and

o @™ 91

(a) e A1 fedifeal @ s SEar & q9nar ¢ ek Jem |
3ifc shal DI I AT WA WA 2 |
(b) e fechar, fmiar &k % 919 T Bl B |

28 Write True or False. 1x2=2
(a) Insurance is a social service.

(b) All contracts of insurance are contracts of indemnity.
Tl a1 i fofey |

(a) <M1 U @HINNG Hell B

(b) | I ey Afagd ST ¢

68/0S/2—215_B | 10 (AR w - [ Contd...



29 Fill in the blanks. 1x2=2

(a) In order to complete the process of communication, there should at least
be persons.

(b) communication includes sounds, words, language and speech.

e @m0
(a) AR @ URKAT B QA B & 0T HF § HH fRd & AT
(b) TOR A eafar, 9T, Ao S Wl ot €1

30 The business assets of an organisation are worth Rs. 90,000 but the debts 2
remaining unpaid is Rs. 1,20,000. What course of action can the creditors
take in sole proprietorship form of organisation?

el dre @ AaETie gt @ dEd 90,000 B, ® wieT 1,20,000 B. @ w9
IHET B | Tohd W@ I 69 ¥ W¥aR 1 BIaE Bl dhd & 7

31 Fill in the banks : 1x2=2
(a) The maximum number of members in a public company is .
(b) Iftoo much capital is required to start a business organisation
should be selected.

o e w1

(a) fordll Trduifies wweT ® gawl @ erfeaw d@wE Tl B

(b) HIHW & B & AU Tga stfuen ISl ol saedehar &l df RUEE]
HT ga= fohar ST T@IfRU|

32 State the full form of the following : 1x2=2
(a) KYC
(b) ATM
frrefafad @1 gof w0 sasEy -
(a) & T ¥ (KYC)
(b) T3 (ATM)

33 Write True or False. 1x2=2
(a) The response to sender of a message is called feedback.
(b) Faulty translation is an example of personal barrier.
qd a1 e fofay |
(a) HIIT U9H I B 7 TS UAThAT B WiSdd Bel ST T
(b) VYUl STIAE FfRTTT AT BT Uh IR & |
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34

33

Mr. Ravi Kumar has limited income and wants to save money for future 2
needs. Which type of account should be opened by him in Punjab National Bank?

A T FAR D1 o €T § X I8 Afas 1 sTagasdhdaren & fog 98 S e
T I% U A9 9 H fohE YR @ @Al @iedr aneg ?

Point out the example of an activity which at one time is economic and 2
other time non-economic.

Tl Tfafafy o1 IS IAEY S U 99d | o Bl & oY qEX wWd o
AR |

SECTION - C

gog — 9

Q. No. 36 to 51 are given below. Internal choices have been given wherever necessary.

999 HEm 36 A 51 A fou ¥ W@ N sEaw gon, s e fou ¥

36

37

38

State the concept of consumerism. 2

IUHRITATE ! STILTIIN hl el il |

(i) Name the consumer courts where the complaints will be filed by the 2
consumers.

I ST SAETAAl & H qAET el X SuHiEetl g e go @
ST |
OR / 3@

(i1)) State any two points of importance of consumer protection from the
point of view of business.

AU % RCHY § STHIRN ST & Hed & Blg A (95 A3

Why should a consumer look for ISI marks on electrical goods? 2

Ui @l faorell & ame o endugend fus & @ afew ?

68/0S/2—215_B | 12 (AR w - [ Contd...



39 (i) State any two functions of a Retailer. 2
% Hehl AN & [hel A HEl B Ierd BT |
OR / 3@t
(i1)) What is direct channel? Give any two examples of it.

e o9 AT & 7 3HP hls &1 IATELU SIS |

40 (i) Satish lost his job during Covid-19 panademic. Now he wants to start a 2
business of his own in his hometown. Satish has limited finance available
with him and he does not want many legal formalities to start a business.
Suggest Satish which form of business organisation he should go for?

Hifre—19 TEMRY & SR TALT BT B Tel T3 | 319 TE 379 g TR & 39T
Ga B IAEE JE B dRdl § | GdleT & U Wid fad Suasy § &R a8
A {JE BT % [T Sgd ST B SuaTmhdren § Tel S @l
AT Bl G < fop I fohd AN % a9 WS § S o1 dliey |
OR / sy
(i1)) Rohan and Sachin bought a Godown, on which they invested the money

equally. They rented out the godown and divided the received rent equally
between themselves. Are Rohan and Sachin partners? Explain.

e 8 i 3 Ta Mem @iier, e W S=i sus-aaeY 39 @)
I TME™ &l fptd 9X T feam ofR urar reT Wil @f onud H qE-—a3Ey
gic foam| w1 Ued X g 9EierR €7 W 61|

41 Which right provides the compassion to consumers? 2

BHIT—TT AIBI ST DI BB TEH BT & 7

42 Explain any three points of importance of communication. 3
YA % Ao & B3 AN (95 T9E |
43 (i) Explain any three problems faced by consumers. 3
SUHRAS % THE A Al fhel AN THETS B quH Bty |
OR / 3@t

(i1)) Explain any three functions of consumer organizations and non-government
organizations (NGO's) for protecting and promoting the interest of
consumers.

Iuiertetl & feai @ Tem o) dads & fou Suwiedr @edl & R-aier
el (TA.S.en.) & fpel A Bl &1 St BT |
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44 Explain the importance of choosing a career. 3

HET G &b HEA Dl U iy |

45 (i) Mamta had some such books which were rare in the market. One of her 3
friends needed those books. Mamta sold out all those books to her friend
for Rs. 4,000 and earned a profit of Rs. 1,000. Can this activity of her be
called a business?

AT % U HB AT fhard of S AR H 3w off | I U Agal Bl S fehard|
B O | AHAA A I A fpars oAl weel @l 4,000 0 H S & 8
1,000 T9F %7 AT HHET| FT 36% 36 HH B AIHE Hel o1 qohdl & 7

OR / 31¥an

(i1)) Ajay and Vijay are two friends. Both of them are doing different businesses.
Ajay's business is facing change in fashion and change in prices and he
is also very upset because of tough competition. On the other hand, there
is a great hurdle in Vijay's business because of the dishonesty of employees,
dishonesty of customers and strikes and lockouts. Point out the type of
business risk the two friends are undergoing or suffering from.

arerg i faora <1 firsr &1 I SISt SgaEd HY T ¥ ST B HaH™
HyM oM ddl ¥ SaTd Bl AT L & & SN a8 el Uiqa@el & wrer |
Tgd W § | AU S HHAIE! BT IgAM, ATEh! Dl ST 31T g3aATd 31T
TS & BT foora & aara & <21 91em of W ¥ | 9asy fh A e fem
YR % JIEIIS g & o & ¢ a1 N & 7

46 (i) Explain any three advantages of E-commerce. 3
3—amTey % fheel dM |l &1 U HifeTg |
OR / 3t
(ii)) What is meant by Industry? State any two types of industries.

TN T T SITHYT 7 SE & bls A TBRI BT el bisTd |

47 State any three points on importance of advertising. 3

fostaT & we % fhel dm fagel &1 S S

68/0S/2—215_B | 14 (AR w - [ Contd...



48 (i) What is Entrepreneurship? Explain any four functions of an entrepreneur. 5

I T T 31 & 7 Ueh ST o fehee| AR il bl Iuie BifsTd |
OR / 3ty

(i) What are the factors you would like to consider if you start a small
enterprise to produce bathing soap?

IfE MY T&M HT WYT AW BT BT &H & B &, A oM 6T HRal T
foram & AR ?

49 "The advertisement must look into the suitability of each medium of 5
advertisement in relation to their products". Explain the statement.

o @t Srae STl % W § U fUso Hiemd t SugeRi X e o
ATV 6 BT D AT BT

50 (i) HDFC Bank is a private sector bank offering various services to its 5
customers. It offers various types of bank account options to its
customers. Geeta being a business person has chosen the type of account
in which the deposits are most liquid and there are no limit to the
number of transactions or amount of transactions in a day. On the other
hand, her mother has opened a type of account where she can
conveniently deposit the money she saves. She has got cheque facility
and lot of flexibility for deposits and withdrawal, whereas Geeta's brother
Kartik opened an account where he will deposit Rs. 3,000 per month
for next two years.

In the context of the above case :
(a) Identify the various types of bank accounts used by Geeta and
her family.
(b) Explain briefly two other types of accounts.
g € UF 91 §% Th el & B dF & SN U Uehl bl fafe gard we
HIAT & | T& AU AEh! B [ATH Tb & §% @l B [hed Y BT o |
AT Uoh AIERT & 3T I8 UH WA 6T YK AT & ISTaH S1 Ui g
a1fes TR Bl & ST Uh R & WFed &l dedn a1 AT &l dig dl Tl
Tl & | A SR, IHa A1 3 U% UH U & GIdl WAl 981 98 =1 gad
% ¥ STEMT & S B bl & | 39 A% Dl Fiaer i 51 i el &
Ty Sga @Ce e §, Stafs M & A1 wifae - UHT W1 @il Stel 98
3 gut & fog 3,000 ®9Y 9iq HE SHT B
SUTERT A % Hed H
(a) T R IHSH U@ & ITART {6 S el fafH=T 9k & S @at
% TEEH B
(b) T I YBR & WAl B WAY F THIEY |
OR / 3t
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51

(i1)) Anil goes to 'State Bank of India' to open his Savings Account there.

On visiting the bank he learns that there is an account available which
is better than the Savings Account. The speciality of this account is
that as and when the deposited amount in the account exceeds a certain
amount, the amount in excess gets transferred into Fixed Deposit. The
interest earned on the Fixed Deposit is more than that on the Savings
Account. This account serves the purpose of both the Savings Account
and Fixed Deposit. Anil gets this account opened. Identify this account
and explain it.

AT STOHT S9d @Il Gaa™ & U ‘®e I o1 3fear o &1 96 & 9
X Y UdT Iaal ¢ 6 It UET Wiar U § o 99d O ¥ 98d¥ §1 39
G B Girad 98 & 6 99 off U § o iy ue ffyaa iy 9 et
B T &, 98 T qraty o W WEidid o Sy § | et s Y e
AT A g9 @I H 3T Bial & | I8 WAl §9d @i SR qraty §9 =
B B T BT §| A I8 WA GAa &1 36 G Bl qed 3K
GHEEY |

Explain any three advantages and two limitations of joint stock companies.

YYH Wi HHMA & foheel O AT ST & WIS B 9ui HifeTg |
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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

4 All the questions including objective-type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective-type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

6 In case of any doubt or confusion in the question paper, the English Version will prevail.

7 Write your Question Paper code No. 68/0S/2, Set — [(C | on the Answer-Book.

8 (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer

in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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Tl eI b WEW U WX UM g asd o |

FUAT YT-TF B W@ o fF G-I & HA YOf qUT YA DI Ia4l o G & Al
YT U5 b G99 SHUX BU ¥ @ 9 B WAd N B o 6 U e w9 F T

TS TgHl H el AR fawedt (A), (B), (C) a1 (D) ¥ ¥ hig TH IOX gAAT & qd
A T IT-gRaer # T Wl Iax fod |

Tegfrss yedt & wra—ary @t et % Iax fraifa orafy & fax & 3 ¥ aggfrs
g9l & fou ot @ wwg WE femm Smm

Sa-giaer ¥ veaH-fug W otgar fide wel & afafea &8 Ff srgwaie faem
X glenedt B ST sEuEr S|

TeTaS H fopdl AT YR & ©oE ofgan giaer @ Rufq § SRS srgame & A= &)

JTT IAX-YRA®HT W T B B 7. 68/0S/2, ¥ - |C| g

(@) WU daw SIS/ § ¥ Y oft, Al oy A A A & T fHl U dmw
¥ I T GHd D

Hipull, WYL, sm@fEr, AU, HWR, Wwpa o fueh

FUT I-YRawr ¥ faw U afem @ fow 6 omw few W § s faw w@ ¥

(@) afy ey & ud ooy & orfafted fpdY o 9w ® SR femaa &, o wei &
e ¥ BM 9t Jfedi | TEfadl @ R wad sder gr|

-

General Instruction / ™= 7891 :
1.

2.

Answers of all questions are to be given in the Answer-Book given to you.
Yl G % A SATYRI < T ITX GRaenT F B fored |

15 minutes time has been allotted to read this Question Paper. The question paper will be
distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 Y9951 I UG o 10T 15 feie o1 a9 f&am 7 8 | we—u=t @1 faaeor aiue & 02.15 591 fopar
ST 02.15 57 § 02.30 S5 O BT dhad F9T-95 Dl T 31X 37 AT % S o SA-gRa!
X BIE IAT T fA@ |

-

J
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BUSINESS STUDIES

(TR )
(215)
Time : 3 Hours] [Maximum Marks : 100
g : 3 "] [quiies : 100
Note : (i) This question paper consists of 51 questions in all.

(i)
(iii)
(iv)

v)

(vi)

All questions are compulsory.

Marks are given against each question.

Section 'A' consists of -

Q. No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark

each. Select and write the most appropriate option out of the four options

given in each of these questions.

Section 'B' consists of -

Q. No. 21 to 35 - Objective type questions. Q. No. 21 to 35 carry 2 marks

each (with 2 sub-parts of 1 mark each). Attempt these questions as per the

instructions given for each question.

Section 'C' consists of -

(a) Q. No. 36 to 41 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 42 to 47 - Short Answer type questions carrying 3 marks each
to be answered in the range of 50 to 80 words.

(¢) Q. No. 48 to 51 - Long Answer type questions carrying 5 marks each
to be answered in the range of 80 to 120 words.

e (i) 39 999 A Ppa 51 U g
(i) &+ wew o ¥
(iii) 9&® 9T & e ofw e o ¥
(iv) |ug ‘e ¥
7 8 1920 - % Sgfaedd 99T 1 8% & 51 39 99 gl 9 fig
T R fawedi § ¥ 999 Sugw fawed @1 o @ ud fad)
(v) @ @ A
T " 219 35 - IS UHR b 2 3l &b U & (1 sf % & IUHE) |
U @B TRe U § g fdarger s @i
(vi) @ @ ¥
(@) . € 369 41 —2 3faf & Afg-agauds 9T & e sax 30 9
50 si=i ® T
(b) U. H 42 ¥ 47 — IYgAUHD YR & 3 3Bl & U & WEHl I
50 & 80 gr=af # <ifg
(c) 9. ® 48 ¥ 51 — I-3IAUED TBR & 5 3ibl b W & Fiiepr SO
80 & 120 gr<af H ST
68/05/2—215_C| 3 (MWL [ Contd...



SECTION - A
g — A

Q. No. 1 to 20 are MCQs of one mark each.
799 HE 1§ 20 TF TAE TF O F qgiaehedid 99 €

1  Sending quotations of supplying raw materials by one businessman to 1
another, is called :

(A) B2B B) B2C
(C) Cc2C (D) None of the above
% FIEE B T FAERT B Hd W Bl AT D BICY W Bl HeT S &
(A) B2B B) B2C
(C) c2¢C (D) Suled § ¥ dig e

2 Name the business organisation which has feature of 'Separate Legal Entity'. 1
(A) Sole Proprietorship (B) Partnership

(C) Partnership Firm of Lawyers (D) Company
SH AEEII® W8T B A qaq130 aH ‘gUe HET siiae &I 99 2|

(A) THA @i (B) €wERER
(C) Thial &l FEEry B (D) &=

3 Which of the following is not a type of advance provided by Commercial 1
Bank?

(A) Cash credit

(B) Discounting of Bills

(C) Overdraft

(D) Collecting and Supplying Business Information

frfafag & @ aF-ar aiftivas d& g far @ oM (tear) =& 8 7
(A) 9T thise

(B) gfedt @t smm

(C) Mg

(D) MIN® FaAE Thd BT T 32 ol

68/0S/2—215_C | 4 (AR w - [ Contd...



4  Principle of Indemnity is not applicable on : 1

(A) Marine Insurance (B) Fire Insurance
(C) Life Insurance (D) None of the above
Aiaqfa & fasia Frafaiaa 9x @] =@ s ¢
(A) |HAI 91 (B) &f o
(C) e € (D) Sulad ® ¥ Bis &l
5  Which of the following activities is a non-economic activity? 1

(A) Teaching in a school

(B) Selling fruits and vegetables in the local market
(C) Playing football with friends

(D) Selling bread to a customer

frrefaiea & & dF—d Tiafafa g IR—s1iée Tiafary § 7
(A) wa F T@rT

(B) WM R ¥ % ofiX qiestal so=1

(C) =<l & |9 fedid Qo

(D) U®® @ I T

6  How many maximum partners can be there in an LLP (Limited Liability 1
partnership)?
(A) Two (B) Twenty
(C) Ten (D) Unlimited number
A Ud O (S ST WrieR)) § eifeean fehde WRTEI §1 "eahd & 7
(A) = (B)
) =g (D) ot demn
7  Which of the following is not the features of the sole trade? 1
(A) Individual ownership (B) Limited liability
(C) Secrecy (D) Undivided risk
frfafad & § SF-—4 Thd AR &I G99l Tef & ¢
(A) =l @i (B) it sl
(C) Ta=raar (D) srfawriera siiRaw

68/0S/2—215_C | S (AR w - [ Contd...



8 Economic objectives of business include : 1

(A) Continuous innovations (B) Adoption of fair trade practices
(C) Creation of employment (D) Promotion of social justice
I & oM Sevdl § e © ¢
(A) X TaER (B) Sfaad =M wemer @l STae
(C) IR gord (D) wrfe < & S T <A1
9  Minimum number of members to form a public company is : 1
SIS BT 9 & {0 gaedt o Aoy @ e §
(A) 2 B) 7
©) 12 (D) 21
10 Industries engaged in the construction of building, roads and bridges etc. 1
are known as :
(A) Construction Industries (B) Manufacturing Industries
(C) Extractive Industries (D) Genetic Industries
Hed, U8 qu1 ¥ onfs & Ffor § "= SE wea §
(A) fafmio s (B) il S
(C) Frepdur Fam (D) wHS IEM
11 deals in various types of goods. 1
(A) Retailer (B) Wholesaler
(C) Broker (D) Agent
I Yo @1 SRl Bl SR &l 5 |
(A) P fashar (B) o faskar
(C) T (D) wfarty
12 Advertising is affected by which forces? 1
(A) Economic (B) Social
(C) Technology (D) All of the above
forstma foper srferant & wenifera efar 2 2
(A) enfée (B) @mite®
(C) wrenfiet (D) Sue gl

68/0S/2—215_C | 6 (AR w - [ Contd...



13 Where is Consumer Guidance Society of India located? 1

(A) Mumbai (B) Delhi
(C) Pune (D) Kolkatta
RAM IUHIET ATTes HiamEe! wal Rud g7
(A) 7% (B) faett
(©) i (D) e
14 We should keep our savings with banks because : 1
(A) It is safe (B) Can be withdrawn any time
(C) Earns interest (D) All of the above
T IOl SO ol § @l difey wifh ¢
(A) T guaa (B) %t o frerel &1 ST Fehal &
(C) =l el & (D) Iuder |+l
15 The wholesaler buys goodsina  quantity. 1
(A) Bulk (B) Less
(C) Medium (D) None of the above
grp fagbar AW A A @& B
(A) g (B) ®A
(C) wead (D) IWE # & @5 ol
16 Entrepreneurs always work for : 1

(A) Social development of country

(B) Improving standard of living of people
(C) Economic development of the country
(D) All of the above

St BHeT fpedh foT @ i © 7
(A) <91 &I GRS o™

(B) Ml &% Sigd & § gaR
(C) <91 @1 onfses faera

(D) U @

68/0S/2—215_C | 7 (AR w - [ Contd...



17  Which of the following is not an example of self employment? 1
(A) Doctor working at a city hospital
(B) The doctor doing private practice
(C) Shop owner
(D) Cafe owner
frafafead § ¥ dF—a1 WU 1 I T8l & 7
(A) S & UH AT H HBIH HI{A drdl (e
(B) feit Sfred &a e siaex

(C) IHM @ HiieTeh

(D) &% @ HifeTh
18 The rights of consumers as per the Consumer Protection Act does not 1
include right to be :
(A) Informed (B) Heard
(C) Safety (D) Presentation

SYHIRIT GET SAUTTIT b STTER IUHGISA % bRl 9 Frefafiad siftrepr
omfd T % -

(A) gfaa (B) gTaE
(C) guam (D) weghr
19 To provide protection to the consumers against the improper behaviour of 1
the producers and sellers is called :
(A) Consumer welfare (B) Consumer protection
(C) Consumer education (D) None of the above
HEN ST &
(A) ST BT (B) SUHeRT €A
(C) SuHen fyrem (D) SUdewd ® © dis Tl
20  Which of the following is not a feature of advertising? 1
(A) Impersonal (B) Non-paid
(C) Identified sponsor (D) Mass communication
frfafed & & wF-ar fesmoT @ fqeoar T2 &7
(A) STIafeRT® (B) TR-ym@aw
(C) wEaN T YHSH (D) &=

68/0S/2—215_C | 8 (AR w - [ Contd...



SECTION - B
g — q

Q. No. 21 to 35 are 02 marks objective type questions.
999 G 21 A 35 o 79 02 % F g TER & 99 ¥

21

22

23

24

Write True or False. 1x2=2
(a) An entrepreneur is an independent person.

(b) An entrepreneur is a person who is wage-employed.

a1 e i)

(a) TSI Ush WA= Afed el 8|

(b) STl I& Al TaT & S WSl WX HRG BT o |

Kavita purchased a medicine but medicine does not have date of 2
manufacturing and date of expiry printed on its package. Identify which right
of the consumer is being violated.

HIIAT 7 Teh gaT GG Wik ga1 & Yobe qX Fmior & ariiig ok o & ariig
&l B 7| Ush IUHAT & & Bl (@ SAUBR Dl U™ sy |

Fill in the banks : 1x2=2

(a) represents a chain of business or intermediaries through
which the final buyer purchases a goods or service.

(b) Wholesaler is a link between manufacture and

o &= W

(a) Fraar a1 fydiferst & ue s@er & gt § fas A |
aifer Shar @IS a%g A1 VT WA B

(b) e feghar, fmfar &k % 919 Th Bl ® |

Fill in the blanks. 1x2=2

(a) In order to complete the process of communication, there should at least
be persons.

(b) communication includes sounds, words, language and speech.

KeaRSIEICR

(a) AR @ URKAT B QA B & 0T HF § HH fRT &M AT

(b) FaR H eafal, 9T, |IOT ST Wwer onfthe E|

68/0S/2—215_C | 9 LR



25

26

27

28

29

The business assets of an organisation are worth Rs. 90,000 but the debts 2
remaining unpaid is Rs. 1,20,000. What course of action can the creditors
take in sole proprietorship form of organisation?

fpdt Tire @Y eI grfa & HEd 90,000 ©. & @fed 1,20,000 5. &1 0T
THAT T | Thd W@ i @69 § dHeR T BIals Hhi dohd & 7

A company has undertaken a fire insurance policy for Rs. 7 lakh. After three 2
months, due to fire, it incurred a loss of Rs. 3 lakh. How much amount will

the company get as compensation? Also state the principle of insurance

involved here.

TE B A 7 WG TS B TH AR S il o §1 A TR 91 S @ &
BT HAN Dl 3 @ TIY BT THAT G| BT Bl FESl &b & § foha=l T
frer il 7 gry &1, 399 ot ST @ fagia O AR

Mr. Ravi Kumar has limited income and wants to save money for future 2
needs. Which type of account should be opened by him in Punjab National Bank?

A1 (G PR BT A Qi & 3 I8 Aias &1 Srasdedian & [y I8 ga=1 9wl
T 3% U MW % § fhE R @1 @i @ie Ay ?

Write True or False. 1x2=2

(a) The process of communication gets completed only when the receiver
understands the message.

(b) The hurdle that comes in the way of communication is known as NOISE.
Tl a1 i forey |

(a) @Er uiear aft g0 & § 99 YTl W91 B g9 Wal §

(b) AR % AR & M aTell STel @B TR &% AW § ST ST ¥

Write True or False. 1x2=2
(a) Advertising helps in providing information about the goods and services.
(b) The sponsor contacts the customers personally through advertisements.

g a1 I faRgul
(a) TI9T aEgeni ok dael & S § FMGRI YeM & § §eddl Hidl |
(b) v fISTUHl & ATETH W UEd § ATRNG ®9 § G9DG BT 5

68/0S/2—215_C | 10 (AR w - [ Contd...



30

31

32

33

Write True or False. 1x2=2
(a) Insurance is a social service.

(b) All contracts of insurance are contracts of indemnity.

Tl a1 A foiey |

(a) <M1 TH GHEING Far B

(b) @l I SgEY @fayla oITY |

Fill in the blanks : 1x2=2

(a) The district level court deals with consumer dispute cases involving claims
upto

(b) India has been observing as National Consumer Day.

o &\ W

(a) Rt @ig = q% & A 9 FEEd SUHe faarg Al 9
e &

(b) HRa B TSI IUHIRT Gaq & &9 H A4 & |

Write True or False. 1x2=2

(a) The rate at which money is lent or borrowed is known as interest rate.

(b) When a banker accepts the securities for safe custody, the relationship
between a banker and customer is that of principal and agent.

qd a1 e fofay |

(a) 59 39X Y41 SYR fon Sar & a1 SR fodn S § S e 3% b ®9 H A
ST 1

(b) & e dHT giaqfoal & gia e & g @Wier HXar §, ar deT o
e & d gy a8k Toie &1 =i )

Point out the example of an activity which at one time is economic and 2
other time non-economic.

Tl afaty 1 IS qARY A T GG H SIS Bl § S qEY 9 H
A3 |

68/0S/2—215_C | 1 (AR w - [ Contd...



34 State the full form of the following : 1x2=2
(a) EFT
(b) IFSC
frefafea & gof wu fafeg -
(a) 3 T® & (EFT)
(b) &z TH TH & (IFSC)

35 Fill in the blanks : 1x2=2

(a) Minimum amount of capital required to start a private limited company

is Rs.
(b) The liability of the members of Cooperative Society is
o we =11
(a) U UrEae fWfes HFel g6 & o oy stasdes =gAad Uil ol it

T |
(b) weHI AHfq & &l &1 A gl

SECTION - C
gos — |q

Q. No. 36 to 51 are given below. Internal choices have been given wherever necessary.

999 G 36 A 51 AR oy ¥ W@ N sEaw gon, i e fou ¥

36 State the Essential Commodities Act, 1955 in respect to legal protection to 2

the consumers.
SUHIATSH Bl B! G YaH BT & q-g o asdd agg satEE, 1955 @
I BT |

37 Explain any two responsibilities of consumers. 2

SuHiEstl @ fhel A EiEl &1 Ieia Bty |

68/0S/2—215_C | 12 (AR w - [ Contd...



38 (i) Satish lost his job during Covid-19 panademic. Now he wants to start a 2
business of his own in his hometown. Satish has limited finance available
with him and he does not want many legal formalities to start a business.
Suggest Satish which form of business organisation he should go for?
HIfaE—19 FEMRIT % S TAL BT ABL Tl T3 | 319 I§ 3797 T& TR H 39T
Ge & HaEE Y BT AEAT & | FAlST b aE Wi fod Iuere & o @
I & B & [ Gga AU BT SqeIehdrel § T8 SAsAl daredrl
A Bl G < fop I fohd AN % a9 WS § S oAl dliey |

OR / 3@t
(ii)) Rohan and Sachin bought a Godown, on which they invested the money
equally. They rented out the godown and divided the received rent equally
between themselves. Are Rohan and Sachin partners? Explain.

e 8 GiaT 3 Tah MeM wier, 9 W S=i sus-aaey 39 @)
I TE™ &l o 9X T fean ofiR ura |ret Wit @l onud H S E-—a3ay
gic foam wn Ued R gfad 9EerR €7 T & |

39 What is meant by 'Right to Education' to a consumer? 2

Ueh SUHIGT & fw firem & iferepe & war il ® 7

40 (i) State any two functions of a Retailer. 2
Th el AU & fhel & HEl & Iwrg By |
OR / 3@t
(i) What is direct channel? Give any two examples of it.

e o9 T & 7 3HP hls 31 IATELU SIS |

41 (i) Name the consumer courts where the complaints will be filed by the 2

consumers.

39 SUHIGAT STl & AW ST WEl 9¥ SUHERSt g fead g9 @

Sl
OR / 3@t
(ii)) State any two points of importance of consumer protection from the

point of view of business.

A % GBI T IUHERT L& & FEd &b Bls A g aEyl

68/0S/2—215_C | 13 (AR w - [ Contd...



42

43

44

45

46

47

68/0S/2—215_C|] 14

(i) Explain any three advantages of E-commerce. 3
AT &% el dM WTHl &1 Ui HifeTg |
OR / 3ty
(i) What is meant by Industry? State any two types of industries.
SEM | F1 A &7 SE b Bis A YBRI B Seer@ DItTd |
State any three points on importance of advertising. 3

fasme & 9ea & fB=l A fagel &1 swiw S|

Explain any three qualities required for success in self-employment. 3

WS ¥ q%hadl & [0 SEsdd el @ O &1 auid it |

(i) Explain any three problems faced by consumers. 3

SUHIRTST % THE o Al fohel AW THETS B que Hiferg |
OR / 3@t

(i1)) Explain any three functions of consumer organizations and non-government
organizations (NGO's) for protecting and promoting the interest of
consumers.
SRS % fEal @ @ ofR dadd % fau IuweRn d@edl iR -\t
oAl (TH.57.8M.) & Tl O Bl &1 e Hie |

Explain the elements of communication process. 3

A UfhaT &% T B AU BT

(i) Mamta had some such books which were rare in the market. One of her 3

friends needed those books. Mamta sold out all those books to her friend
for Rs. 4,000 and earned a profit of Rs. 1,000. Can this activity of her be
called a business?
HHAT % U HB UHT fpard off S AR # gew off | Il U Trall Bf S feparat
B TEd A AAA A I AR fpare ool wEel @ 4,000 0 A 99 & 8
1,000 9 T @ HHEAT| HT I9% 36 BH Bl AT Hl S Feball & 7

OR / 3t

(AR w - [ Contd...



(i1)) Ajay and Vijay are two friends. Both of them are doing different businesses.

Ajay's business is facing change in fashion and change in prices and he
is also very upset because of tough competition. On the other hand, there
is a great hurdle in Vijay's business because of the dishonesty of employees,
dishonesty of customers and strikes and lockouts. Point out the type of
business risk the two friends are undergoing or suffering from.
o iR faora &1 f €1 ST SIeT—oTaT edd Bl (@& & | 3TeTd & Aad™
e iR Ml § IEAE DBl AEAT B 6T & AR TE B! Grwqdl b BrRoT |
TEd T & | U 3 HHATE 0l J59H1, ATehl Sl ST i gsar 3T
TSl & 0T foorg & gaEr | g1 qrem o7 W@ § | a5 6 I e foh|
YR % JIEMIS g & o & ¢ 91 N & 7

48 (i) HDFC Bank is a private sector bank offering various services to its 5
customers. It offers various types of bank account options to its
customers. Geeta being a business person has chosen the type of account
in which the deposits are most liquid and there are no limit to the
number of transactions or amount of transactions in a day. On the other
hand, her mother has opened a type of account where she can
conveniently deposit the money she saves. She has got cheque facility
and lot of flexibility for deposits and withdrawal, whereas Geeta's brother
Kartik opened an account where he will deposit Rs. 3,000 per month
for next two years.

In the context of the above case :
(a) Identify the various types of bank accounts used by Geeta and
her family.
(b) Explain briefly two other types of accounts.
Tg € UF 91 §% Th il & B 96 & S U Uehl bl fafe gard we
HIAT & | TE ST UBH! B M~ T % §b @Il bl [adhed Ya HIT ¢ |
AT U AIERT & 3T I8 UH WA 61 YK AT & Io7aH o1 Ui a9l
a1fes XA Bl & ST Uh R H WMed &l den a1 AT &l dig dEl Tl
Tl & | A SR, IHa A1 3 Uo UH U & Gidl WAl 981 98 =1 gad
% U STEMT & S B Hhdll & | 39 A% Dl Fiaer X 5T X el &
Ty Sga @Ce e §, Stafs M & A1 wifae - UHT W1 @il Siel 98
31 aut % fag 3,000 0 9fd @ S BN
SIS A % Hed H
(a) T R IHH INER & ITART {6 S ool fafH=T 9k & S @mat
% gEEH B |
(b) T I YBR & WAl B WAY F THIEY |
OR / 3@t

68/0S/2—215_C | 15 (AR w - [ Contd...



(i1)) Anil goes to 'State Bank of India' to open his Savings Account there.
On visiting the bank he learns that there is an account available which
is better than the Savings Account. The speciality of this account is
that as and when the deposited amount in the account exceeds a certain
amount, the amount in excess gets transferred into Fixed Deposit. The
interest earned on the Fixed Deposit is more than that on the Savings
Account. This account serves the purpose of both the Savings Account
and Fixed Deposit. Anil gets this account opened. Identify this account
and explain it.

AT STOHT S9d @Il Gaa™ & U ‘®e I o1 3fear o &1 96 & 9
X Y UdT Iaal ¢ 6 It UET Wiar U § o 99d O ¥ 98d¥ §1 39
G B Girad 98 & 6 99 off U § o iy ue ffyaa iy 9 et
B T &, 98 T qraty o W WEidid o Sy § | et s Y e
AT A g9 @I H 3T Bial & | I8 WAl §9d @i SR qraty §9 =
B B T BT §| A I8 WA GAa &1 36 G Bl qed 3K
GHEEY |

49 (i) What is Entrepreneurship? Explain any four functions of an entrepreneur. 5
SETHAT &1 T 379 & ? U I o [ehol AR BIAT Bl AU DIToTT |
OR / 3ty

(i) What are the factors you would like to consider if you start a small
enterprise to produce bathing soap?

iy MY Te™ BN WYT T BT BT &9 & B &, Al M9 6T BB U
faam & A ?

50 What is Cooperative Society? Explain any four features of Cooperative 5
Societies.
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51 What is meant by advertising? Explain any four features of it. 5
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